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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level 
Geography 9696 and to show how different levels of candidates’ performance (high, middle and low) relate to the 
subject’s curriculum and assessment objectives. 

In this booklet, candidate responses have been chosen from the June 2022 series to exemplify a range of answers for 
all the questions on the question paper. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers to 
assess the standard required to achieve marks beyond the guidance of the mark scheme. Please also refer to the 
June 2022 Examiner Reports for further detail and guidance.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:  

Introduction

Past exam resources and other teaching and learning resources are available on the School Support Hub.

9696 June 2022 Question Paper 21

9696 June 2022 Mark Scheme 21

9696 June 2022 Insert 21

http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support
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How the candidate could have improved their answer
•	 (b) A good comparison once the confusion over the reference to Asia was clarified.
•	 (c) A good range of points were given but many were not fully explained or tightly linked to the slow improvement in 

nourishment. For example, ‘lack of investment into farming practices’ was not clear on what practices and how this 
impacted on nourishment. A clear chain of cause and effect using terms such as ‘leading to’ and ‘resulting in’ would 
help points to be developed.

       The candidate seems to 
be comparing Asia and South 
America which is not the 
question. When the data given 
is checked, it is Africa and South 
America as confirmed at the 
end. This is a careless slip that 
could have cost all the marks.
Mark for 1(a) = 1 out of 1

       The candidate uses terms 
that make comparison clear, e.g. 
‘similar trends’ and higher/lower.
Mark for 1(b) = 3 out of 4
Mark for 4(a) = 1 out of 4

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 

helps your learners to refine their exam technique.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high-, middle- or low-level response for 
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in 
the right-hand column are the examiner comments.

Example Candidate Response – high Examiner comments

Answers are by real candidates in exam 
conditions. These show you the types of answers for 

each level. Discuss and analyse the answers with your 
learners in the classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 

to interpret the standard of 
Cambridge exams so you can 

help your learners to refine their 
exam technique.

2

1
1

Common mistakes candidates made in this question
•	 (b) Candidates needed to compare changes directly quoting data from the resource. Many did not compare, and 

others only considered one or two changes.
•	 (c) Many candidates considered Africa to be a single country so gave inappropriate reasons for the slow 

improvements in nourishment. Many did not link their explanation to the slow improvements in nourishment, 
instead describing why levels of nourishment were low. For example, many correctly identified ‘civil war’ as a cause 
but then did not say how such events impact on the level of nourishment. Most candidates needed to give more 
reasons as this was a 5-mark question.

Lists the common mistakes candidates made 
in answering each question. This will help your 

learners to avoid these mistakes and give them the 
best chance of achieving the available marks.

2
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Population

Example Candidate Response – high Examiner comments

       The candidate seems to be 
comparing Asia and South America 
which is not the question. When the 
data given is checked, it is Africa 
and South America as confirmed at 
the end. This is a careless slip that 
could have cost all the marks.
Mark for 1(a) = 1 out of 1

       The candidate uses terms that 
make comparison clear, e.g. ‘similar 
trends’ and higher/lower.
Mark for 1(b) = 3 out of 4

       Here is the link between 
climate/drought and food scarcity, 
i.e. a clear cause/effect link.

       It is more the lack of transport 
than being landlocked that is 
crucial.

       It is not clear what is meant 
by ‘farming practices’. This is too 
vague.

       The candidate gives a lot of 
appropriate reasons with some 
examples but the cause/effect link 
to the slow rate of improvement 
in nourishment needs greater 
explanation and therefore only 4 
marks are awarded. The answer 
is more about why nourishment is 
poor than why improvement is slow. 
Mark for 1(c) = 4 out of 5

Total mark awarded = 
8 out of 10 

2

1

4

3

6

5

2

1

4

3

6

5
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How the candidate could have improved their answer
•	 (b) A good comparison once the confusion over the reference to Asia was clarified.
•	 (c) A good range of points were given but many were not fully explained or tightly linked to the slow improvement in 

nourishment. For example, ‘lack of investment into farming practices’ was not clear on what practices and how this 
impacted on nourishment. A clear chain of cause and effect using terms such as ‘leading to’ and ‘resulting in’ would 
help points to be developed.
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Example Candidate Response – middle Examiner comments

Mark for 1(a) = 1 out of 1

       The candidate only compares 
the change between the two end 
dates so only 2 marks are awarded. 
However, data is used and 
comparison is clear.
Mark for 1(b) = 2 out of 4

       There is a clear link to food 
supply but it is not clear why or how 
dry climate reduces crop growth/
yield.

       The candidate gives a valid 
point with an example but it again 
needs a cause/effect link to slow 
the improvement in nourishment. 
The answer is more about why 
nourishment is poor than why 
improvement is slow.

       What are these practices 
and how do they result in 
undernourishment? There is limited 
clarity of explanation and only 2 
marks are awarded.
Mark for 1(c) = 2 out of 5

Total mark awarded = 
5 out of 10

2

3

2

3

1

4

1

4

How the candidate could have improved their answer
•	 (b) There was a limited range of changes given in the answer. The candidate only considered the overall change 

between 2005 and 2019, but there was a sound comparison. More comparisons of changes were needed. If 
several years are given in the resource, it is possible to give a comparison for each, as well as a general statement.

•	 (c) The candidate only offered two reasons. Much was not developed such as the statement ‘due to poor 
farming practices’. These practices were not stated nor linked to their impact on the slow level of improvement 
in nourishment. More reasons linked to slow improvement in nourishment were needed. Three well developed 
reasons would allow the candidate to access all the marks.
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Example Candidate Response – low Examiner comments

1
       Such questions only require 
a single word answer. Time and 
answer space is wasted by the 
candidate.
Mark for 1(a) = 1 out of 1

       The first two lines again 
show wasted answer space and 
time. Unlike example 1, this was 
irrelevant, so was not awarded any 
marks, as it consistently focused on 
the incorrect comparison despite 
the first sentence.
Mark for 1(b) = 0 out of 4

       The link to population growth 
is not clear. The candidate only 
quotes evidence that there is no 
improvement in the nutrition.

       To state Africa is a country is 
a serious error. The reference to 
‘resources’ needed explaining as to 
what they are and how they impact 
on nourishment improvement.

       There is still no real link as to 
why there is slow improvement in 
nourishment. The candidate does 
not really answer the question so no 
marks are awarded.
Mark for 1(c) = 0 out of 5

Total mark awarded =
1 out of 10

1

3

22

3

4

5

4

5
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How the candidate could have improved their answer
•	 (b) The candidate needed to read the question more carefully as their answer compared Asia and South America 

which was not the correct comparison.
•	 (c) The candidate considered Africa as an ‘undeveloped country’ and hinted at population size as a cause for the 

slow improvement in nourishment but did not develop that point. Far more specific causes were needed with a 
clear cause/effect link to the slow improvement in nourishment.

Common mistakes candidates made in this question
•	 (b) Candidates needed to compare changes directly quoting data from the resource. Many did not compare, and 

others only considered one or two changes.
•	 (c) Many candidates considered Africa to be a single country so gave inappropriate reasons for the slow 

improvements in nourishment. Many did not link their explanation to the slow improvements in nourishment, 
instead describing why levels of nourishment were low. For example, many correctly identified ‘civil war’ as a cause 
but then did not say how such events impact on the level of nourishment. Most candidates needed to give more 
reasons as this was a 5-mark question.



Example Candidate Responses – Paper 2

11

Migration

Example Candidate Response – high Examiner comments

1

Mark for 2(a)(i) = 1 out of 1

Mark for 2(a)(ii) = 1 out of 1

       These are correct figures. 
However, the candidate makes an 
error by not showing that the figures 
are in thousands.
Mark for 2(b) = 2 out of 3

       This is a good point but an 
example would have clarified the 
point.

       Why do males have higher 
literacy rates? Overall, the 
candidate gives a range of points 
with some development and 4 
marks are awarded.
Mark for 2(c) = 4 out of 5

Total mark awarded = 
8 out of 10 

1

2
2

3 3

How the candidate could have improved their answer
•	 (b) The candidate should have shown that the data was in thousands. Checking the answer would have helped the 

candidate realise that 45 was an unlikely answer.
•	 (c) A good answer with lots of valid points, but at times, they were not fully explained. For example, it was stated 

there was higher male literacy rates, but why this was the case and how this impacted their ability to migrate was 
not explained. 



Example Candidate Responses – Paper 2

12

Example Candidate Response – middle Examiner comments

       This is an incorrect answer. 
Time and answer space is wasted 
by answering in full sentences in 
both a(i) and a(ii).
Mark for 2(a)(i) = 0 out of 1

Mark for 2(a)(ii) = 1 out of 1

       These are correct figures. 
However, the candidate makes 
an error by not showing figures in 
thousands.
Mark for 2(b) = 2 out of 3

       The candidate needs to 
mention the reason the males are 
forced to migrate and why this 
reason does not apply frequently to 
females.

       This is a basic answer around 
males working and females looking 
after the family so only 2 marks are 
awarded.
Mark for 2(c) = 2 out of 5

Total mark awarded = 
5 out of 10

1

2

3

4

1

2

3

4

How the candidate could have improved their answer
•	 (a)(i) The candidate needed to read the resource more carefully.
•	 (b) The candidate should have shown that data was in thousands. By checking the answer, they would have 

realised that 45 was an unlikely answer.
•	 (c) Far more reasons were needed to explain the difference in migration rates between males and females. The 

response focused on the oversimplified notion that men migrate for work and women stay to care for children. A 
valid idea but it needed more development and/or detail of cause/effect explanation.



Example Candidate Responses – Paper 2

13

Example Candidate Response – low Examiner comments

     
  
Mark for 2(a)(i) = 1 out of 1

Mark for 2(a)(ii) = 1 out of 1

       This is incorrect as the 
candidate uses data for those 
moving out of the UK.
Mark for 2(b) = 0 out of 3

       It is not clear why more males 
migrate for jobs than females.

       The candidate rather negates 
the explanation of why males 
migrate more than females.

       This statement needs 
clarification and an example.

       The answer is confused and the 
candidate negates their explanation. 
Only 1 mark is awarded.
Mark for 2(c) = 1 out of 5

Total mark awarded = 
3 out of 10

1

2

3

4

1

2

3

4

5 5
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How the candidate could have improved their answer
•	 (b) The candidate took the figures for migration out of the UK rather than the figures for migration into the UK. The 

approach to the calculation was correct but they used incorrect data.
•	 (c) There was a lack of explanation. Much was not related to why males and females in the ages 25–44 differ in 

their ability to migrate. Statements were vague and not well linked to the question. The point about emancipation, 
for example, was not developed or explained fully to link it to the differing ability to migrate.

Common mistakes candidates made in this question
•	 (a) Misreading the figures in the resource – a large number gave the wrong sex/age group in (i).
•	 (b) Confusing in-migration and out-migration and giving the wrong calculation. Also, many did not appreciate the 

data was in thousands so gave an incorrect answer.
•	 (c) Not explaining why males and females may differ in their ability to migrate. Also, many incorrectly assumed 

that this question referred to the UK, giving explanations based on migrants coming to the UK rather than directly 
answering the question. Most candidates needed to give more reasons, perhaps aiming for three well-developed 
points, as this was a 5-mark question.
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Settlement dynamics

Example Candidate Response – high Examiner comments

1
       The candidate identifies the 
evidence well from the resource 
and explains why this indicates lack 
of use.
Mark for 3(a) = 3 out of 3

       A good reference to the 
resource and link to the needs of 
modern manufacturing.

       Another good reference to the 
resource and link to the needs of 
modern manufacturing. 

       Another valid point but a tighter 
link is needed to the requirements 
of modern manufacturing.
Mark for 3(b) = 3 out of 3

1

2 2

33

44
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How the candidate could have improved their answer
•	 (a), (b) were well answered with both relevant explanation and good reference to the resource.
•	 (c) A range of valid points were given but there was some confusion suggesting that urban brownfield sites were 

cheaper due to them being ‘more degraded’ which suggested a misunderstanding of what manufacturing requires.

Example Candidate Response – high, continued Examiner comments

       Good point with relevant 
example.

       The answer is confused here – 
would manufacturing stay to exploit 
brownfield sites? The urban location 
is unlikely to be cheaper.

       The candidate presents a 
good range of points but becomes 
confused over the brownfield 
site and, therefore, 3 marks are 
awarded.
Mark for 3(c) = 3 out of 4

Total mark awarded = 
9 out of 10

7
7

5
5

6
6
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Example Candidate Response – middle Examiner comments

       Two valid points are correctly 
identified from the resource but 
‘rust’ is not linked to why this 
indicated lack of use.
Mark for 3(a) = 2 out of 3

       It is not clear what the 
candidate means by outdated 
technology. There is no reference 
to the resource or modern 
manufacturing.

       A valid but weak point so 
overall 1 mark is awarded.
Mark for 3(b) = 1 out of 3

       It is not clear why urban areas 
are so easy to access. Congestion 
leads to access problems in many 
urban areas so this point may not 
always be true.
Mark for 3(c) = 3 out of 4

Total mark awarded = 
6 out of 10

22

1

1

3

4

3

4

How the candidate could have improved their answer
•	 (a) The response was sound but more explanation would have increased the mark. For example, the candidate 

needed to explain why the amount of ‘rusted metal’ indicated that the site was no longer in use.
•	 (b) The response needed more reasons why it was no longer suitable for modern-day manufacturing. Reasons that 

were stated such as ‘outdated technology’ were not developed or referenced to the site shown in Fig. 3.1.
•	 (c) A number of valid points were made such as cost and time spent moving and availability of transport, but more 

reasons were needed with more detail and/or development to gain full marks.
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Example Candidate Response – low Examiner comments

       The candidate correctly 
identifies two valid points from 
the source but ‘moss everywhere’ 
was not true or linked to why this 
indicated lack of use.
Mark for 3(a) = 2 out of 3

       The candidate does not make 
it clear why this and the next point 
make it unsuitable for modern 
manufacturing.

       This point is not explained in 
the context of why this makes the 
site unsuitable. Overall, there is little 
reference to the question. One mark 
is awarded for the notion of limited 
size and split site.
Mark for 3(b) = 1 out of 3

       This is irrelevant to both staying 
at an urban location and the nature 
of manufacturing. This is a limited 
answer in both length and depth so 
no mark is awarded.
Mark for 3(c) = 0 out of 4

Total mark awarded = 
3 out of 10

3

4

3

4

2

1

2

1

How the candidate could have improved their answer
•	 The response to (a) was sound but more explanation would have increased the mark. Why did ‘moss everywhere’ 

indicate a lack of use of the site?
•	 In (b), very little of the response linked to the suitability for modern-day manufacturing. Size of site was mentioned 

but not developed or related to modern manufacturing requirements.
•	  The candidate needed to appreciate the significance and context of ‘original urban location’ in (c). More of the 

material needed to be relevant to the location and question, for example, the mention of nuclear energy plants was 
irrelevant. It also demonstrated a lack of understanding of ‘manufacturing’.

Common mistakes candidates made in this question
•	 (a) Not fully explaining why the identified piece of evidence demonstrated a lack of current use of the site. Many 

struggled to find a third piece of evidence from the photograph.
•	 (b) Many candidates based their responses on the dilapidated appearance of the site rather that the nature of the 

site itself. Suggesting broken windows are unsuitable for modern workers is a lower-level type response compared 
to those focusing on site limitations such as lack of ease of access or limited room for expansion.

•	 (c) Not reading ‘stays at its original urban location’ and looking at reasons for moving to other areas of the world or 
even into urban areas. Few identified the notion of industrial inertia.
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Population

Example Candidate Response – high Examiner comments

1        The candidate does not 
mention the rate except high and 
low.

       There is good and clear 
evidence of accurate knowledge 
and understanding of DTM.

       Clear and accurate description 
of the changes in the death rate in 
the DTM, but there is no data. 
Mark for 4(a) = 5 out of 7

1

2 2

3 3
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Example Candidate Response – high, continued Examiner comments

       The candidate uses good 
examples and links them clearly to 
time.

       There is a clear range of 
factors which are well linked to the 
explanation as to why death rate 
falls with development.

4

5

4

5
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Example Candidate Response – high, continued Examiner comments

       This is irrelevant. There is a 
large range of factors which are 
well linked to explaining the fall in 
death rate together with a variety of 
examples which places the answer 
at the top of Level 3.
Mark for 4(b) = 8 out of 8

       This is a clear introduction that 
demonstrates clear knowledge and 
understanding of the topic.

6

7

6

7
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Example Candidate Response – high, continued Examiner comments

       An effective evaluation 
throughout.

       Good use of data to maximise 
the usefulness of supporting 
examples.

8

9

8

9
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Example Candidate Response – high, continued Examiner comments

       There is an effective evaluation 
throughout.
1010
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Example Candidate Response – high, continued Examiner comments

       Good use of data to maximise 
the usefulness of the supporting 
examples.

       Solutions are not required.1212

11 11
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Example Candidate Response – high, continued Examiner comments

       The candidate discusses a 
range of types of impacts, both 
positive and negative with detailed 
examples and sound evaluation 
throughout and is, therefore, 
awarded Level 4. However, not at 
the top of the Level, as the answer 
was not focused in some places.
Mark for 4(c) = 13 out of 15

Total mark awarded = 
26 out of 30

1313

How the candidate could have improved their answer
•	 (a) The candidate correctly described the changes in death rate in the DTM and gave some examples, but these 

needed to be supported with data demonstrating what the death rate was at each stage. Better use could have 
been made of the diagram in this respect.

•	 (b) This was very good with a range of sound examples of countries at differing levels of development and a wide 
range of reasons of why death rates fell with increased economic development. There was good cause/effect 
explanation.

•	 (c) Another very good answer mostly based on Japan (with appropriate data) which considered the positive 
and negative impacts on economic, social, environmental and political aspects of the country. The essay had a 
clear beginning, middle and end and was of a good length for a piece of work that should take about 25 minutes. 
Evaluation was consistently sound and was evident throughout the response. There was a tendency to wander off 
focus and consider other, less relevant, impacts such as solutions to the ageing population so it did not achieve the 
top of Level 4.
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Example Candidate Response – middle Examiner comments

1
       Birth rate and explanation are 
irrelevant as they are not required 
by the question.

       This is incorrect. The candidate 
confuses stages 2 and 3.

       This is incorrect. Overall, the 
answer needs more accuracy, 
detailed examples with data and 
less explanation.
Mark for 4(a) = 2 out of 7

       This was an irrelevant 
introduction as it does not explain 
the fall in the death rate.

       The candidate does not explain 
why and how this has an impact on 
reducing death rate.

       The candidate does not explain 
why and how this has an impact on 
reducing death rate.

       There is little explanation of 
how or why the death rate falls with 
development. Examples are limited 
and they could be more detailed 
and supportive. Overall a Level 2 
answer.
Mark for 4(b) = 4 out of 8

1

2 2

3 3

4

5

4

5 6

76

7



Example Candidate Responses – Paper 2

27

Example Candidate Response – middle, continued Examiner comments

       The candidate misses the 
opportunity to add detail and data to 
support the explanation.

       It is not clear whether this is 
a positive or negative impact. It is 
vague and unsupported.

       The candidate recognises other 
types of impact.

8

9

8

9

1010
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Example Candidate Response – middle, continued Examiner comments

       This is an odd statement. It is 
not clear whether this is positive or 
negative impact and no example 
has been given.

       There is some evaluation at 
the end and the answer looked at 
a range of impacts but it is poorly 
arranged with limited examples. 
This is a Level 3 answer.
Mark for 4(c) = 8 out of 15

Total mark awarded = 
14 out of 30

12

11

12

11
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How the candidate could have improved their answer
•	 (a) Only two of the stages of the DTM were correct in terms of the death rate changes (stages 1 and 4). The 

candidate seemed to confuse stages 2 and 3. There was a lot of unrequired explanation of the changes. The 
candidate needed to be more accurate and focus on describing the changes in the death rate.

•	 (b) The first paragraph was irrelevant as it explained why the death rate was high at stage 2 of the DTM. There was 
some attempt at exemplification, but this was limited in detail. There was a limited range of reasons for the fall in 
the death rate. The response needed greater explanation of the cause/effect linkage between factors and why they 
caused a fall in the death rate.

•	 (c) This was mostly based on Japan but did wander off focus to consider the effect of the one child policy in China. 
Many points needed more detail and development with fewer unsupported statements such as the ‘elderly die 
quicker’ which was seen as an advantage of an ageing population. The candidate did consider economic, social, 
demographic, and cultural impacts, so with examples and evaluation, limited though this was, it was placed just in 
Level 3.
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Example Candidate Response – low Examiner comments

       The candidate does not fully 
understand the question and 
refers to both birth rate and natural 
increase.

       The death rate falls rapidly. The 
candidate goes on to explain which 
is not required here.

       This is incorrect. 

       This is incorrect. Overall, there 
is lack of accurate description and 
not all the material is kept relevant 
to the question so 2 marks are 
awarded.
Mark for 4(a) = 2 out of 7

       A valid point but how does an 
improvement in water infrastructure 
lead to a fall in the death rate?

       Examples are needed here.

       Far too little explanation of the 
cause/effect factor on the fall in 
the death rate. There is no attempt 
at exemplification, as asked in 
the question, so this is a Level 2 
answer.
Mark for 4(b) = 3 out of 8

3

4

3

4

2

1

2

1

5

6

7

5

6

7
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Example Candidate Response – low, continued Examiner comments

       It is not clear in what way they 
could be supported.

       It is not clear whether this is 
a positive or negative impact. It is 
vague and unsupported.
Mark for 4(c) = 4 out of 15

Total mark awarded = 
9 out of 30

9

8

9

8
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How the candidate could have improved their answer
•	 (a) Only two stages of the DTM were correct. Far more detail and accuracy was needed. Birth rate changes and 

natural increase were included and were not needed. Some examples of death rates were needed.
•	 (b) If questions asked for examples and none are given, as in this response, candidates are limited to a maximum 

of 4 marks. Far more cause/effect explanation was needed such that impact of an improvement due to economic 
development was linked to how it impacted on the death rate. For example, improvement in water quality was 
correctly identified as a factor but it was not linked to how this reduced the death rate.

•	 (c) Again, examples were needed. More of the limited length of this response needed to be kept relevant to the 
question rather than considering irrelevant topics such as population policies. The response only considered a 
limited range of economic impacts rather than contrasting these with other impacts to produce a more effective 
conclusion.

Common mistakes candidates made in this question
•	 (a) Many candidates did not know, or confused, the stages of the DTM, particularly the changes in rates of change 

in stages 2 and 3. Too many gave unnecessary aspects such as the birth rate changes and/or total population 
growth. Few could quote relevant data on the changing death rate. A lot explained the changes ignoring the fact 
that this was a ‘describe’ question.

•	 (b) Too many candidates did not give examples or gave simplistic ones such as, ‘e.g. Africa’. Cause and effect 
were often poorly explained with insufficient explanation of how the factor, such as increased education, caused 
the death rate to fall.

•	 (c) This part was generally well answered but candidates often needed more examples and better evaluation 
(including evaluation throughout the answer) of why or why not the statement was correct.
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Population/Migration

Example Candidate Response – high Examiner comments

1        It is not a good idea to start 
with the last section of a three part 
question as often parts (a) and (b) 
feed into part (c). In this case, they 
did not.

       A perceptive evaluation 
followed up with an example of 
famine in Mali.

       The candidate gives detailed 
locational information.

1

2
2

3 3
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Example Candidate Response – high, continued Examiner comments

       The candidate supports their 
example with details. Also, starting 
the paragraph with ‘however’ is an 
indicator of discussion.

       There is good comparison of 
international and internal migration 
impacts although the role of 
Birmingham is not convincing.

4

5

4

5
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Example Candidate Response – high, continued Examiner comments

       The candidate gives a different 
example and a further contrast.

       A variety of impacts expressed 
as different types of source 
areas so providing an interesting 
evaluation. This is a Level 4 answer 
but types of impacts needed more 
detail.
Mark for 5(c) = 13 out of 15

6

7

6

7
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Example Candidate Response – high, continued Examiner comments

       This is one clear way of 
classifying migrating with supporting 
examples.

       Another contrasting way 
of classifying movement. It is 
well described but the basis of 
classification is not clear.

       Another contrasting way 
of classifying movement with 
an appropriate example. It is 
well described but the basis of 
classification is not clear.

       The answer offers a range of 
ways with some examples but does 
not really describe the basis of each 
of the classifications. However, 
there are enough valid points for full 
marks.
Mark for 5(a) = 7 out of 7

8

9

8

9

10 10

11 11
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Example Candidate Response – high, continued Examiner comments

       There is a clear explanation 
from the start with an example and 
details.

       The paragraph is about internal 
not international migration with an 
example.

       The answer is limited in range 
of reasons and is Level 2. There 
is no conclusion to the overall 
explanation.
Mark for 5(b) = 4 out of 8

Total mark awarded = 
24 out of 30

12

13

14

12

13

14

How the candidate could have improved their answer
•	 (a) A good range of types of classifying migration with some attempt at exemplification. Ideally, more was needed 

to describe the basis of these classifications.
•	 (b) The candidate’s response was based on China with some detailed data but more of this detail could have been 

more supportive of the question. The candidate focused on rural to urban migration with a rather limited range of 
factors causing this movement. The response needed a broader view of why the level of internal migration, not just 
rural to urban, has increased. As this was the last part of the candidate’s response to Question 5, part (c) having 
been answered first, the candidate may have been pressed for time.

•	 (c) A good range of examples supported a discussion of both positive and negative impacts of migration on the 
source area both at the international and internal levels. There was a sound evaluation which did consider the 
extent of agreement with the stated view.
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Example Candidate Response – middle Examiner comments

1
       Only one type of classification 
is described with details and 
example.

       The answer loses focus 
here. These models have limited 
relevance.

       Only one type of classification 
is considered and the basis of this 
classification is not described.
Mark for 5(a) = 3 out of 7

1

2 2

3 3
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Example Candidate Response – middle, continued Examiner comments

       The focus of the response is 
on rural to urban migration with an 
appropriate example.

       The answer again loses 
focus onto models but could have 
developed the idea of obstacles 
being reduced. The candidate uses 
irrelevant international migration 
example to support the point.

       A fair point but does not 
explain why overcrowding leads to 
migration and who migrates. There 
is little on the link to LICs/MICs and 
limited in scope therefore is placed 
in Level 1.
Mark for 5(b) = 2 out of 8

4

5

4

5

66
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Example Candidate Response – middle, continued Examiner comments

       There is too much focus on 
the reasons for the migration rather 
than its impact.

       Good points on impact but 
need more details and an example.

       Good points on impact but 
need more details and an example.

77

8

9

8

9
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Example Candidate Response – middle, continued Examiner comments

       Good change in scale and 
location. Again, sound points 
lacking supportive detailed 
examples.

       Another change in approach.

       The response offers a range 
of scales and types of migration 
to contrast their impact but 
the evaluation was limited. It 
needs detailed evaluation and 
exemplification. It is a Level 3 
answer.
Mark for 5(c) = 10 out of 15

Total mark awarded = 
15 out of 30

10

11

10

11

1212

How the candidate could have improved their answer
•	 (a) Only one type of migration classification was considered, forced vs voluntary. More types of classification were 

needed, together with the basis of the classification. This response considered theories or models that were not 
made relevant to the question of classification. More detailed examples were needed.

•	 (b) This response was limited in scope and depth. It was largely a limited view of the push and pull factors in 
rural to urban migration but some of the content was based on international migration and referred to non LIC/
MIC countries. Greater focus on the question was needed and fewer unexplained statements such as ‘inner city 
migration also occurs as families grow’.

•	 (c) This was a stronger response with a range of impacts on source areas both at the international level, Poland, 
and at the internal level, Brazil. The answer needed more detail on both impacts and in examples.
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Example Candidate Response – low Examiner comments

       A valid type of migration with 
example but the basis of this 
classification is not clear.

       The answer mixes up two 
different ways of classifying – chain 
migration is not in the same class 
as forced migration. It should be 
voluntary.

       The answer is limited and there 
is no real attempt to describe ways 
of classifying movement.
Mark for 5(a) = 1 out of 7

       There is an attempt here to 
explain rural to urban migration with 
an example but rather limited in 
scope.

       More detail is needed on rural 
pushes factors.

       This is an odd statement as 
rural areas produce food. The 
example is rather simplistic.

       This is a limited explanation 
of a very limited form of internal 
migration. It does not really get to 
the focus of the question. This is a 
Level 2 answer.
Mark for 5(b) = 3 out of 8

3

4

3

4

2

1

2

1

5

6

7

5

6

7
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Example Candidate Response – low, continued Examiner comments

       There is an attempt here to 
exemplify with data.

       This is not a very accurate 
example – its more the elderly 
moving into areas such as Dorset.

9

8

9

8
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Example Candidate Response – low, continued Examiner comments

       This is not a good place to start 
the conclusion when so little has 
been evaluated.

       The answer has very limited 
range of impacts and their 
evaluation. Examples lift the 
response into Level 2.
Mark for 5(c) = 7 out of 15

Total mark awarded = 
11 out of 30

10

11

10

11

How the candidate could have improved their answer
•	 (a) Only one type of classification was considered and that was not well explained. The question asked for plural 

‘ways’, so a single way did not answer the question. More types of classification were needed.
•	 (b) This was based on rural to urban migration in Brazil and China. Much was vague and not explained such as: 

‘more access to food in urban locations’. A greater range of reasons why internal migration has increased was 
needed. Examples needed more detail.

•	 (c) There was a limited range of impacts and, in places, the candidate considered the impact on both source and 
destination areas. The answer did consider international and internal scales, but much was vague and poorly 
focused. The response needed more depth and detail, and a more effective concluding evaluation.

Common mistakes candidates made in this question
•	 (a) Few candidates considered how migration could be classified so offered either a single classification such 

as forced vs voluntary or could not articulate the basis for the classification. Many merely stated a single type of 
migration, e.g. chain migration, without any notion of other types in the classification. Examples were often missing 
or lacked detail.

•	 (b) Many candidates ignored the focus of LICs/MICs and based their answers on HICs, so producing irrelevant 
responses. Candidates tended to focus on rural to urban migration rather than consider the bigger picture of 
increased mobility of people, so answers were often lists of rural push factors and urban pull factors rather than a 
consideration of the role of improved transport, greater media use, etc.

•	 (c) Several candidates produced responses that compared the impact of migration on both source and destination 
areas which was not the question. Generally, this was a soundly answered question, but weaker responses only 
considered a narrow range of impacts, usually economic, and considered only one scale, usually the international 
such as the Mexico to the USA migration stream.
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Population/Migration/Settlement dynamics

Example Candidate Response – middle Examiner comments

1
       This is not the question. The 
question is about processes rather 
than factors. The answer does give 
an example of segregation.

       There is a process here but 
needed more development to be an 
effective description.

       The answer offers a number  of 
types of segregation with examples 
but there is not enough on process.
Mark for 6(a) = 4 out of 7

1

2
2

3 3
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Example Candidate Response – middle, continued Examiner comments

       The answer is based on Bid-
Rent with description of zones of 
London. There is limited link to 
question of explaining land values.

       This is inaccurate and not used 
to support the explanation.

       There is limited explanation and 
the answer only considers Bid-Rent 
and therefore it is only Level 2.
Mark for 6(b) = 3 out of 8

4

5

4

5

66



Example Candidate Responses – Paper 2

47

Example Candidate Response – middle, continued Examiner comments

       An encouraging start as 
candidate clearly recognises there 
is a variety of factors affecting 
location of activities.

       There is a clear environmental 
factor but could have been better 
linked to its impact on location of 
activities.

       Link to economic factor of Bid-
Rent.

       It is not clear how social factors 
fit in.

9

8

9

8

77

10 10
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Example Candidate Response – middle, continued Examiner comments

       Good example of where 
environmental factor overcome due 
to economic factor or technology.

       The answer had an interesting 
approach but had limited factors. 
There was an evaluation and there 
were examples so the answer is 
Level 3.

1111

1212
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Example Candidate Response – middle, continued Examiner comments

       Good example of where 
environmental factors are overcome 
due to economic factors or 
technology.

       The answer had an interesting 
approach but had limited factors. 
There was an evaluation and there 
were examples so the answer 
reaches Level 3.
Mark for 6(c) = 10 out of 15

Total mark awarded = 
17 out of 30

13

14

13

14

How the candidate could have improved their answer
•	 (a) There was no real focus on processes that led to residential segregation. The candidate tended to describe 

factors, mainly ethnicity and religion, that led to segregation with some appropriate examples. The candidate 
needed to turn these factors into the more dynamic processes that led to residential segregation. The answer did 
mention assimilation but needed to develop this more effectively.

•	 (b) This response offered the role of the Bid-Rent model to explain why land values varied within the urban area 
of London. There was a poorly drawn diagram of the model and some attempt at providing supportive examples. 
More factors influencing land values were needed and greater accuracy and depth of the Bid- Rent model were 
also needed.

•	 (c) This response needed to be better arranged as much of the content was sound but presented in a poorly 
organised way with limited focus on activities. Environmental factors, rivers and relief, were contrasted with the 
economic factor of Bid-Rent with some appropriate examples from a range of cities. The candidate needed to 
develop a clearer and more detailed link between the factor and the location of activities in the urban area.
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Example Candidate Response – low Examiner comments

       The candidate identifies a 
process but is unclear what ‘far 
out city’ means. They have an 
inaccurate idea of segregation in 
London.

       The candidate misunderstood 
the life cycle model and makes 
some dubious assertions.
Mark for 6(a) = 1 out of 7

       The candidate does not really 
explain why inner city (confused 
with CBD?) is more desirable.

       This is an inaccurate and over-
simplified view of New York land 
values.

       This is inaccurate and not used 
in the explanation.

       There is very limited 
explanation. Bid-Rent and examples 
need more detail and accuracy. 
Therefore, the answer is Level 1.
Mark for 6(b) = 2 out of 8

3

4

3

4

2

1

2

1

5

6
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Example Candidate Response – low, continued Examiner comments

       The candidate identifies 
activities but then states one 
environmental factor is ‘land use’.

       It is not clear what ‘space’ 
means and it is difficult to see how 
the given example fits this idea.

       Weather is stated as the factor 
but then flood zone is discussed. 
Incorrect notion of flood prone areas 
being reserved for residential land 
use.

       The candidate recognises 
other factors have a role in location 
of activities but no real evaluation 
of their role. Examples are very 
limited. This is a Level 1 answer.
Mark for 6(c) = 3 out of 15

Total mark awarded = 
6 out of 30

77

9

8

10

9

8

10
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How the candidate could have improved their answer
•	 (a) Only one factor was considered, relative wealth, and there was no real focus on processes. Far more processes 

were needed. The response needed to be less vague and demonstrate a more accurate knowledge of London.
•	 (b) The candidate needed to go beyond Bid-Rent and consider other economic, social, environmental and political 

factors that influenced land values. Much was vague and the diagram of the Bid-Rent model needed to be more 
accurate. The exemplification using New York was too vague and needed specific locational details. The response 
was relatively short in length for an 8-mark question.

•	 (c) Again, this response needed to be longer to allow the candidate to develop an evaluation. The notion of 
environmental and economic factors needed to be less vague and greater care was needed over statements such 
as: ’Flood zone is reserved for residential’. Examples needed to be more detailed. Greater evaluation of the roles 
of factors as to how and why they affected the location of activities was needed.

Common mistakes candidates made in this question
•	 (a) Candidates did not describe the processes. Instead, they listed factors that led to residential segregation often 

with examples. By not focusing on processes, such as filtering, candidates missed the dynamic element of the 
question.

•	 (b) Few candidates went beyond Bid-Rent to consider other physical, social, political and economic factors that 
explain why land values varied within urban areas. Bid-Rent was not well understood and many of the supporting 
diagrams were incorrect. Exemplification was limited in depth and detail, typically consisting of the, ‘e.g. London’ 
type example.

•	 (c) Many candidates seemed confused by the term activities, so saw it as an opportunity to describe the location 
of sporting or recreational activities. This was not a well understood topic, so both examples and environmental 
factors were poorly developed. There was a need to contrast the role of environmental factors with that of other 
economic, social, and political factors.
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